2.7: Combining Functions

1. If f(x) =+vx and g(x) = V9 — x2, then the domain of the function

(5) (x), in interval notation, is

A) [0,3)
B) (—3,0)
C) (-3,3)
D) [0,3]
E) (—3,0]

2. ff(x) =1-=3xand (f o g)(x) = 3x3—x? + 2,theng(—1) =

A) 1
B) —1

C)

D) —4
E) 4



3. Which one of the following is TRUE for the functions f(x) = 3x + 2
and g(x) = (1/3)x —2/37?

Af-9)(=1D =0

B)(f -9)(1) =5

Q) (g +/)(B)=35/3

D) (g )(2) # (f > 9)(2)
E) (f/g)(0) is undefined.

4. If f(x) =V16 —x2and g(x) = x* — 7x + 12, then the domain of
the function /g is

A) [-4,3) U (3,4)
B) [—4,3) U (3,4]

C) [-4,—3] U (=3,4)
D) [-4,4]

E) (—o0, —4] U [4, )



5. If f(x) = 2x% 4+ 5,g(x) = 2x + m and the graph of the function
(f ° g)(x) has y-intercept 23, thenm =

6. f g(x) =4x —5and (g o f)(x) = 8x? + 12x — 1, then f(=2) is

equal to:

A)3
B) 7
C) 15
D) -7
E)-13



C(2x—1 ifx<-—1
7. 'ff(x)_{2x+3 ifx>—1

greatest integer function, then the value of (f o g)(—0.3) +

J(f -9)(0.5) is equal to

and g(x) = [x], where [-] is the

A)-3
B) -4
C)-1
D) -2
E)1

8. If f(x) =16 + V/x, then (f o £)(0) is equal to

A) 9
B) 2v/3
C) 3v2
D)8
E) 4



9. Iff(x) =2x—1and (f e g)(x) = 2x + 1, then g(x) is equal to

A) -2
B) 2x + 2
C)2
D)x + 2
E)x+1

10.If f(x) = gand g(x) = vVx + 2, then the domain of (f o g)(x) is

A) [=2,7) U (7, )
B) (3, )

C) [-2, )

D) [-2,3)

E) [-2,3) U (3, )



11.Let f(x) = x? — 2x and g(x) = x—; If (f cg)(k) =0, thenkis

equal to

B) 2

12. If f(x) = x3 and g(x) = |x — 1], then (5) (V2) is equal to

A)2+2V2
B) 4 + 22

C)2++2
D)4 — 22
E)2v2 —2



13.f (feg)(x) =10—x,and f(x) = 2x +4and g(x) = ax + b,

where a, b are real numbers, then a, b are equal to

14.The domain of (g o f)(x), where f(x) = %and gx)=+vx—3is

0 (0]
B) (=2, 0) U [5,0)
Q) (—oo, oo)

D) (o0, 0) U (0, )
E) [0, 3]

3



15. Given that (g o f)(k) = 1, where f(x) = x + 1 and g(x) = 2 — x?,

then the set of all possible values of k is equal to

A) {—2,0}

B) {—2,-1,0,1,2}
C) {0}

D) {—2,0,2}

E) {0,2}

16.Let [x]denote the greatest integer function and let f(x) =

1 .
{E([[x]] D ifxs _1, then the value of (f o f) (— E) is equal to
1 —[x] ifx > —1 ’

A)0.2
B) 0.36
C) 2

D) -0.2
E) O



[x —1] if x> —2
17.1f f(x)=1 |x| if —4 < x < —2,where [] denotes the greatest
-3 if x<-4

integer function, then (f o f) (— %) + f(=5) =

A) 0O
B) -4
C)3
D) -2
E) 4

18. If f(x) = Vx + 1 and g(x) = x? + 2x, then the domain ofi is

A) [-1,0) U (0, =)

B) (—2,—1] U [1, )
C) [-1,0)

D) (=2,—1]J U (0,)
E) [-1, 00)



19.1f (g o f)(x) = —2x? + 4|x| + 3and g(x) = —2x + 3, then
F(-1) =

A) -1
B) 2
Q)1
D) -2
E) O

20.f f(x) = ﬁ and g(x) = %, then the domain of the function i is

A) (=00, )

B) (—00,2) U (2,00)

C) (—oo,—1) U (—1,2) U (2,)

D) (—o0,—=2) U (—2,—-1) U (—1,2) U (2, o)

E) (—o,1) U (1,2) U (2, )



21.1f f(x) = —x* +3x + 1and g(x) = [x — 3], then (f o g)(21) =

A) 17
B) -17
C) 13
D) 1
E) 19

[x+1] if x=0

22.Given the function f(x) = {|x| 1 if x<O

where [[-] denotes

the greatest integer function, then (f o f)(—m) =

A)3



23.1f f(x) = Vx + 1, g(x) = x3 + 2x% + x and the domain ofg is

(a,b) U (b,),thena + b =

24.1f (f o g)(x) = x2 +x—12— 4and g(x) =x —i, then f(3) =

A) 7



